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Q1. Inoligopoly market there are --------- firms.
SAMYBRIT Uedidl FBHAT —-————-—- 39 .
A. More / SIRd
B. Medium / H¥H

C.Few / 3{cU
D.One / Udh

Q2. - is the simple and easy form of oligopoly market.
AANYPRT Th TS d U Y - 3Te.
A. Monopoly / THIIPR
B. Duopoly / SANYDBR

C. Perfect competition / ‘{Uf gt
D. Monopolistic competition / W@E@TH Pl

Q3. If perfect competition exists in factor market, wages of labours are --.

gch SR JUI WYl SfEAFl ¥d bl HeuRt Aol -
39d.

A. Equal / HHIH

B. Different / f&¥

C. Unequal / faww

D. Zero / AU

Q4. ---—--—--- is the return of land which gets to the owner of land.

e gayd 9 SfoARh [uremEr aR daeed YH
AAH fHSURT Hidgeal BN & 2
A. Interest / NS

B. Wages / INR’[



C. Profit / dWI
D.Rent / W8

MRT stands for -------------- :

MRT d Qof 9 ———oocoomoo g 8.

A. Marginal rate of technology / Marginal rate of technology
B. Marginal rate of transformation / Marginal rate of transformation

C.AandBboth / 3f 30 § él%l
D.Only A / Tad 3 SRR

The major cost of search is the time required to ---------------- :
R IRCES |13 ] (——— 3{TaRTD 3Tg .

A. Learn about consumption / IUHITRITST Rrpur.

B. Learn about the product / SdTeRIae] R,

C. Learn about the cost / @difaydl Rl

D. Learn about the investment / JddUifdydl R,

The IS curve shifts to the left when ---------- :

3 TH dh SlAlhs SGAdl AT ---mmmmmmmv :

A. Taxes increase / ®< algdl

B. Government spending increases / TRPRT Td aTadl
C. The money supply increases / U= YRdal ared)
D. Taxes decrease / B HHI

A source of demand for foreign exchange is ------------- :
------------- R e ARTUET Hd 3Tg.

A. Brokerage of goods & services / d¥{ d Jaidl gara
B. Smuggle of goods & services / d¥] d Jard dehRl

C. Export of goods & services / d¥q d Jar faid

D. Import of goods & services / d¥ d Jafel Smrd



Q9. Who explain the term Absolute Cost Advantage?
RO Td AU AdhedaT Hion JAlSa 2
A. Adam Smith / 3feq &Y
B. Thomas Malthus / 91T AT
C. Leontief / fasii<Iw

D. Heckscher — Ohlin/ 8RR 3{igdld

Q10. ------------- is the person who ultimately bears the burden of tax money
price?
ol SifaHa: BT UM ST e BRA ATAT —-momemmemeee 3
TRUIdId .

A. Impact of tax / PX[HId
B. Shifting of tax / X HhHU

C. Incidence of tax / hIHR
D. All of the above / dRIcUP! Id



